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QUESTION 1

You are running an UPDATE statement on a table using dbaccess. What kind of lock type is expected?
A. Byte

B. Update

C. Shared

D. Exclusive

Correct Answer: D

QUESTION 2

Given an OLTP environment with a very large table, which configuration parameter can be set to allocate more memory
for sorting when building an index on the large table?

A. DBUPSPACE
B. DS_POOLSIZE
C.VP_MEMORY_CACHE_KB
D. DS_NONPDQ_QUERY_MEM

Correct Answer: D

QUESTION 3

An Informix server is configured with multiple CPU VPs and poll threads and is experiencing NSF lock errors. What
action should be taken to reduce the network shared file lock contention?

A. Increase the value of MAX_INCOMPLETE_CONNECTIONS.

B. Increase the value of NUMFDSERVERS and add more poll threads.

C. Increase the value of NUMFDSERVERS and increase the number of MSC VPs.

D. Increase the network buffer pool using the IFX_NETBUF_PVTPOOL_SIZE environment variable.

Correct Answer: B

QUESTION 4

Several operating-system kernel configuration parameters can affect the use of shared memory by the database server.
Which two kernel parameters may need to be configured? (Choose two.)
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A. Memory page size.

B. Total number of available semaphores.

C. Lower-boundary address for shared memory.

D. Total memory presented to the operating system.

E. Maximum operating-system shared-memory segment size.

Correct Answer: CE

QUESTION 5

Which two statements are true about archecker utility? (Choose two.)

A. Archecker can help developers team to debug procedures.

B. Archecker can do backup testing, fully integrated with onbar and ontape utilities.

C. Archecker can copy data from different servers, even restoring from a remote device.

D. Archecker can use all kind of connections protocols, including shared memory connections.

E. Archecker can do data restore (physical or logical) of database portions, table portions, or even a set of tables.

Correct Answer: BE
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